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BT T2 | MR T8 T = BT T2 | MR8 T =%
RRX 38,115 87,008 41559 45449
RIRET1T 5 15 7 8
RIRET2T 24 52 24 28
AIEET3T 163 531 262 269
RIRET4T 390 983 484 499
B 582 1,581 777 804
REH 2,636 6,215 2,916 3,299
L&A 4,206 9,599 4,545 5,054
BE 2,523 6,016 2,919 3,097
B AN 1,230 2,814 1,317 1,497
BERT 1,170 1,843 862 981
BER2T 664 1,314 632 682
BHERST 393 901 447 454
g 2,227 4,058 1,941 2,117
BARE 255 651 327 324
= 2,198 5,283 2,492 2,791
hERE 620 1,462 668 794
e 2,371 5,210 2,512 2,698
25 L ET 2,248 5,225 2,500 2,725
B &AL BT 76 161 66 95
HEFILET1T 579 1,253 585 668
HEFILET2T 611 1,369 647 722
HEZFILAT3T 600 1,405 692 713
g 1,866 4,188 1,990 2,198
B & it B Fr ET 681 1,666 808 858
BHEREBET1T 612 1,254 599 655
BHERERET2T 759 1,776 869 907
BHERERETST 750 1,627 739 888
HEFMHET4T 459 1,014 491 523
HEHFMHETST 800 1,652 795 857
HEHFHET6T 868 2,017 968 1,049
HEFRET7T 841 1,927 926 1,001
HERERETST 69 209 100 109
£t| 5,158 11476 5,487 5,989
HEF R FET 1,817 3,967 1,930 2,037
S|EFET1T 565 1,519 759 760
S|EFET2T 761 1,837 876 961
S|EFET3 T 708 1,419 669 750
g 2,034 4,775 2,304 2,471
ERE1T 558 1,345 645 700
EIRET2T 384 1,003 495 508
EREIST 468 1,333 646 687
EIRETAT 686 1,545 711 834
EIZEIST 462 963 485 478
g 2,558 6,189 2,982 3,207
MEH 2,796 6,408 3,041 3,367
J\THET1T 26 29 10 19
J\THET2T 25 64 31 33
J\THEI3T 58 132 62 70
B 109 225 103 122
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